Math 160:  7.2  Estimating the Population Proportion with Confidence Intervals
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Then the Confidence Interval for the Population Proportion p is:
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We take a random sample of 811 people and find 65 of them are left-handed. 

a. Use the sample data to construct a  90% confidence interval for the true proportion of people that are left-handed.

b. Now construct a  95% confidence interval for the true proportion of left-handers.

c. Find the minimum sample size required to estimate the true proportion of left-handers, assuming that we want to be 99% confident that the sample proportion is within 2 percentage points of the true proportion.
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